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len(threading. enumerte (1))
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'[Q_MaihThread(MainThread> starte&A150103364720384)>]
[<_MainThread(MainThread|" started 140103364720384)>]

[<_MainThread(MainThread, started '140103364720384)>, <Thread(Thread-1, started 140103333545728)>]

python@ubuntu:~/Deskflop/pyti LA I/ dython-05% cat 05-3IERIR LR LARGEITEYE]. py
import threading
import time

def testl():
for 1 in rang2(5):
print("-4---
time.slekp(1)

def main():
# EVEAThread ZATAFTENHAILIZE R
ncintltheeadinag.enureratef))
t1 = threading.Thread(tanget=testl)

# VB Thread Z [GFTEN

print(threading.enumerate())
ti.start()
# TiERstartZGTED

print(threading.enumerate())
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import threading

import time

class MyThread

for i in ran&é( yi

time.sleep(1)

def

msg = "I'm "+self.name+' @ '+str(i) F B 7
print(msg)
if _ _name__ == '__main__'

t = MyTh read('b

t.start() k
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% .append(33)
pritt( test % str(temp))

def testz(temp):
print( test? % str(temp))

g_nums = [11,

def main(): :

1
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t1 tﬁfeading.Thread(target:testl, a;;':(o nums,))
t2 threading.Thread(target=test2, args=(g_nums,))
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R args LA o 2H
Global

num
numsJs [11,

def test(Y
global nuM
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num +=
def test2():
nuns.appeLd(
print(num)
print(nums)

8 test()
9 test2()

print(num)
print(nums)

mutex = threading.lLock()

mutex.acquire()

-

mutex.release()
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